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Chemistry

1. Among the following the molecule with highest

dipole moment is ?

A. CH3Cl

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ROnxZDtsQICi


B. 

C. 

D. 

Answer: A

View Text Solution

CH2Cl2

CHCl3

CCl4

2. The electron configuration of four elements are

given below: 

1. 


2.  


3 


[Xe]6s1

[Xe]4f 14, 5d7, 6s2

[Ar]4s24p5

https://dl.doubtnut.com/l/_ROnxZDtsQICi
https://dl.doubtnut.com/l/_HOTd20EkGBgb


4. 


Among the following statements about these

elements which one statement is not correct?

A. 1 is a strong reducing agent

B. 2 is a block element.

C. 3 has high electron affinity

D. The compound formed between 1 and 3 is

ionic.

Answer: B

View Text Solution

[Ar]3d7, 4s2

https://dl.doubtnut.com/l/_HOTd20EkGBgb
https://dl.doubtnut.com/l/_uc5oBdd3Ti2i


3. Which of the following pair the EAN of central

metal atom is not same?

A.  and 

B.  and 

C. 

D.  and 

Answer: D

View Text Solution

[Fe(CN)6]
3 −

[Fe(NH)3 _ (6)]
3 +

[Cr(NH)3 _ (6)]
3 +

[Cr(CN)6]
3 −

[FeF6]3 − and [Fe(CN)6]
3 −

[Ni(CO)4] [Ni(CN)4]
2 −

https://dl.doubtnut.com/l/_uc5oBdd3Ti2i


4. Van Arkel process and Mond's process are

respectively used for refining of

A. Zr and Ti

B. Ni and Zr

C. Ti and Ni

D. Ni and Fe

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_Ng8w6WNoPSkO


5. Which of the following statement isnot correct?

A. The anionic pars of  are octahedral

in shape

B. maximum number of atoms in same plane in

 are 6

C. Graphite is conductor

D. In Buck minister fullerence  all 60 caron

atoms are involved in 5 membered rings.

Answer: D

View Text Solution

PCl5 ( s )

B2H6

(C60)

https://dl.doubtnut.com/l/_E3BfqufKBoOn


6. The pair of the compounds in which both the

metals are in the higest oxidation state:

A.  and 

B. 

C. 

D. 

Answer: B

View Text Solution

[Fe(CN)6]
3 −

[CO(CN)6]
3 −

CrO(2)Cl2, MnO
−
4

TiO3, MnO2

[Co(CN)6]
3 −

, MnO3

https://dl.doubtnut.com/l/_E3BfqufKBoOn
https://dl.doubtnut.com/l/_P8KG5Z0Yphbf


7. Select most stable complex:

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

[Co(en)3]Cl3

Na3[Fe(OX)3]

K4[FeF6]

K[Fe(EDTA)]

https://dl.doubtnut.com/l/_OIc17vDr5kHE


8. Based on trends in density, indentify the correct

answer among the following:

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Li > Na

Na > K

K > Rb

Rb > Cs

https://dl.doubtnut.com/l/_1GRHaNncJfj3


9. What is the product of Balz Schiemann reaction?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_vXpl6bVg11XZ


10. Choose the incorrect statement regarding

glucose

A. Glucose is an aldohexose

B. Glucose shows mutarotation

C. Glucose on reaction with  gives 11-

hexane

D. - glucose is monomer of cellulose

Answer: D

View Text Solution

HI /Δ

α − D

https://dl.doubtnut.com/l/_vXpl6bVg11XZ
https://dl.doubtnut.com/l/_dsGrAQtbNTvX


11. In the following reaction the major product is 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

CH2 = CH − CH2 −

H3C−CH −CH3

∣

S
⊕

− CH2

I ϴ

−−→

(CH3)
2
CH − I

CH2 = CH − CH2 − I

CH3 − CH2 − CH2 − I

CH2 = CH − CH2 − S − CH2 − CH2 − CH3

https://dl.doubtnut.com/l/_8trOJ0pFRV08
https://dl.doubtnut.com/l/_wa4n7zqH6B7s


12. Incorrect IUPAC naming is founding in which of

the following compounds

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_wa4n7zqH6B7s
https://dl.doubtnut.com/l/_SZVjlqcuhbLd


13. At  the standard emf of a cell involving 2

electron exchange, is found to be 0.295V. Calculate

the equilibrium constant of the reactio.

A. $9.51\time10^{8}$

B. $10$

C. $1\times10^{10}$

D. $9.51\times10^{9}$

Answer: C

View Text Solution

25∘C

https://dl.doubtnut.com/l/_SZVjlqcuhbLd


14. The possible products when the azeotropic

mixture of water (boiling point ) and HCl

(boiling point ) which boils at  is

separated:

A. Pure HCl

B. Pure water

C. Pure water as well sas HCl

D. Neither HCl nor  in their pure states

Answer: D

View Text Solution

100∘C

85∘C 108.5∘

H2O

https://dl.doubtnut.com/l/_uSqAKfZ5AgY6


15. If pure methanol has density 1.6g/ml. Then

molarity of methanol is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

55.55M

10M

50M

100M

https://dl.doubtnut.com/l/_Q6KbpqCLMjSE


16. What is the minimum pH necessary to cause a

precipitate of 

 to form ina 

 solution?

A. 12.4

B. 10.8

C. 12

D. 11.1

Answer: C

View Text Solution

Pb(OH)2(Ksp = 1.2 × 10− 5)

0.12MPbCl2

https://dl.doubtnut.com/l/_eGnX62UNk9NB


17. Calculate the temperature at which the reaction 

 at


1atm pressure will be in equilibrium? 

The value of  and  for the reaction are 

 and 


respectively.(These values do not change much with

temperature)

A. 462.6K

B. 486.4K

C. 364.5K

D. 521.2K

Ag2O(s) → 2Ag(s) + O2(g)
1

2

ΔH ΔS

30.58kJ 66.11JK − 1

https://dl.doubtnut.com/l/_ihOyaZPAXCHB


Answer: A

View Text Solution

18. In how many of the following the central atom

has more than 1 Ione pair of electrons ? 

View Text Solution

IF7, IF3, PCl5, H2O, SF4, SO2

19. The number of water molecules per  in

hydrated  is ….

View Text Solution

AlCl3

AlCl3

https://dl.doubtnut.com/l/_ihOyaZPAXCHB
https://dl.doubtnut.com/l/_EQ1Kfll1DMvN
https://dl.doubtnut.com/l/_EbcJaDZPEMqQ


View Text Solution

20. 

The number of chiral carbon atom(s) in the product

is ………….

View Text Solution

21. In how many of the following compounds will

Markovnikov's addition be observed? 

https://dl.doubtnut.com/l/_EbcJaDZPEMqQ
https://dl.doubtnut.com/l/_8WVHAmHYe6J4
https://dl.doubtnut.com/l/_PzMN0iAYjZwP


cis-But-2-ene,2-methylpropene,propenehex-3ene,3-

methylbut-l-ene,ethene,trans-but-2-ene,pent-2-ene

View Text Solution

22. Find the total number of reaction that produce

aromatic compounds is 

https://dl.doubtnut.com/l/_PzMN0iAYjZwP
https://dl.doubtnut.com/l/_XEFb9DRN4VSK


View Text Solution

https://dl.doubtnut.com/l/_XEFb9DRN4VSK


23.  of a weak acid (HA) and  of a weak base

(BOH) are 3.2 and 3.4 respectively. The pH of their

salt (AB) solution is …….

View Text Solution

pKa pKb

24. Maltolse Ethyl alcohol 

How many moles of ethyl alcohol canbe obtained

from one mole of maltose?

View Text Solution

Matare
−−−→ X

Zwwee
−−−→ +CO2

https://dl.doubtnut.com/l/_wUQg4OAX9eBy
https://dl.doubtnut.com/l/_zAoYuMKrCmwh


25. Edge length of a bcc crystal is 300 pm. Its body

diagonal would be ……….pm.

View Text Solution

26. A particle of mass 100g moving at a velocity of

 had de Broglie wavelength of

approximately 

 cm. Find the value of x………

View Text Solution

100cms− 1

6.6 × 10−x

https://dl.doubtnut.com/l/_Vlq9BMY6BfPT
https://dl.doubtnut.com/l/_GA4GOr9Ltikp


27. If the initial concentration of 0.6M and the rate

constant is  the half life of the

reaction is ………..minutes.

View Text Solution

2 × 104Ms− 1

https://dl.doubtnut.com/l/_XFq4B2sl2saS

